Parts (Alan)

nail | MAGNET X 2pcs | SENSOR X 2pcs
X 408set HCNE:-1564 24VCD IPS-12NC2A-S(shielded 2mm)
W H H$E © http://item.taobao.com/item.htm? NPN NC 200mA DC10-30V
- spm=a230r.1.14.170.rzw40t&id=16929228694 |t : http:/item.taobao.com/item.htm?id=21353863005
M4X20 7 [E 5

|

\’ g

| 7 cmaan) oo

B B W] 13868783535
} MAUZ I
encoder plu

encoder X 1p§)s :
X 1pCS 3. S LRIk 2o TR 0FF
OMRON
E6CP-AGS5C
12t024VDC
256 P/R

propel >

motor & &

X lpair &/,

e S 74 # B 157mm
G o8 L ) 17

ECELZ;‘;‘S\ZVSALGB \ B HE100W24V 1 5t
scat motor X 1 pcs |seat magnet X 1 pes | seat lock

kOB 75 Tmm B R 1T 5
FOEBERE100W24V 1004

(YEJOORIEE KL )

sHidriver¥ 959.5

A

L Tape
X 1pcs

X 4 pcs




Parts (Alan)

Arm tap X 2pcs

Cover tap X 2pcs| Speaker X 1pcs

Switch X 1pcs

v i

Six-pin plug

Legrests wheel
X 2pcs

F rubber X 1pcs

X Iset

M5X35 (HFREE)

handleM5screw | handleM6screw

X 4pcs

X 4pcs

seat|

MSX25F1#BH Free Wheel X 2pcs B rubber

M8X20<
NV

A~ 5%%%?) M5X 12 B FR 5

X 2pcs

wire clip X 4pcs




Bearing (Alan)

F68087Z7Z (d=40mm ~ D=52mm ~ B=7mm -

+KFE  Bf=1.5mm - Load Rating (Cr) 4923 N) 4pcs
|
F68067Z7Z (d=30mm - D=42mm ~ B=7mm ~ Bf=1.5mm - Load Rating (Cr) 4538 N) 6pCS
R

F69047Z7 (d=20mm ~ D=37mm ~ Df=40mm * B=9mm ~ Bf=2mm
- Load Rating (Cr) 6381 N) 2pcs
F68047Z7 (d=20mm -~ D=32mm ~ B=7mm ~ Bf=1.5mm - Load Rating (Cr) 4015 N) 4pCS
63804727 (d=20mm ~ D=32mm * B=10mm -~ Load Rating (Cr) 4015 N) 2pcs
6901727 (d=12mm > D=24mm ~ B=6mm ~ Load Rating (Cr) 2885 N) 3pcs
608727 (d=8mm > D=22mm ~ B=7mm - Load Rating (Cr) 3293 N) 4pcs
626727 (d=6mm > D=19mm ~ B=6mm - Load Rating (Cr) 2336 N) Ipcs
686727 (d=6mm > D=13mm ~ B=5mm - Load Rating (Cr) 1082 N) 4pcs
AXK1528 889102 (d=15mm ~ D=28mm ~ B=2mm ) 2pcs

- i 7 i oy 7K




	parts01
	parts02

